MCQ

1. For a givin 19 year old female cheerleader , with a height of 170 cm and weighting 69 kg : 

Her BMI formula will be :
a) BMI = 170/(69X2)

b) BMI = 69 / (1.7X2)

c) BMI = 6.9 / 170
d) BMI = 69 / 1.7

2. A women in the following condition is considered in a great risk of CAD :

a) Waist / hip = 0.6

b) Athlete

c) BMI = 23

d) Waist circumference = 38 inches

3. Regarding leptin which of the following is not true :

a) Regulate the amount of body fat

b) When depleted, the result is loosing weight

c) Comes from ob gene

d) Acts on hypothalamus

4. One of the following acts as an appetite stimulating hormone : 

a) CCK

b) Insulin

c) Ghrelin

d) Resistin

5. Which one of the following is not secreted by adipocyte 

a) Resistin

b) Leptin

c) Adiponectin

d) Ghrelin

T or F :

i. Body fat can be directly calculated by using BMI 

ii. BMI have an aproximatly true result in all individuals

iii. Upper body obesity is related to men 

iv. Lower bosy obesity is associated with high risk of CAD 

v. Hip circumference is better predictor of risk problems

vi. Obesity inhertence follow mendel's genetics laws

vii. Environmental conditions contribute more to obesity that                genetics factors

Wish ya all the luck !!!              Nono
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